Download More Papers From www.GovtJobsAlert.In

Click to Print  logout

Question 1.Select the related word/letters/numbers from the given alternatives:

&3 Iy faeheal & @ Farfewre Qrec) 316RI/EEaT T giav|
CURE : DISEASE :: HEAL : ?

gellor & AT 22 3T SAGAT: 2
Options:

1) Iliness

AR

2) Injury

e

3) Recover

EIE Gl ST

4) Sick

R;csepsl)

Correct Answer: Injury

Qe
Candidate Answer: [ NOT ANSWERED ]

Question 2.Select the related word/letters/numbers from the given alternatives:

&3 9131 Tahedl 7 & Fel-erd Yreey) 3TR/HEdT 1 IT|
DBCE : QOPR :: JLKI : ?

Options:

1) YWXU

2) WYXV

3) WXYV

4) WYVX
Correct Answer: WYXV
Candidate Answer: WYXV

Question 3.Select the related word/letters/numbers from the given alternatives:

A 7 fashedt # & Fafeera eree) 3arl/dear # 9w
6:42::12:7

Options:

1) 48

2)72

3) 60

4) 84
Correct Answer: 84
Candidate Answer: 72

Download More Papers From www.GovtJobsAlert.In

Staff Selection Commission
(Government Of India)

Challenges



Download More Papers From www.GovtJobsAlert.In
Question 4.

For the following questions
Find the odd word/letters/number pair from the given alternatives.

&3 I faehedt & & fawe eiee/ HeR/TEaT Z9A giAv|
Options:

1) High-Up

F4T - IR

2) Past-Present
HThToT-acT AT RIS

3) Often-Seldom
Ricaste:aca)

4) Fresh-Stale

GISIECIC]

Correct Answer: High-Up
41 - 3R

Candidate Answer: High-Up
F4T - IR

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

&3 9131 Tashedl 3 & fway eree/ 31&R/HEdT giAT|

Options:
1) AOU

2) EOI
3) UIE

4) ALO
Correct Answer: ALO
Candidate Answer: UIE

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

A 13 fasmedt 7 & Frwa erse/ srer/aer gfav

Options:
1) 13

2) 17
3) 29

4) 87
Correct Answer: 87
Candidate Answer: 29

Question 7.Arrange the following words as per order in the dictionary and choose the one that comes first:
AT 2reel & & AsEHIR & AR TUH g TSV |

1. Temple 2 Tenant 3. Terminate 4. Temperature
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Options:
1) Temple
2) Tenant

3) Terminate

4) Temperature
Correct Answer: Temperature
Candidate Answer: Temperature

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
Teh 37eTehe 1T a1 &, TSI Ueh U ofed &1 few 910 fashedt & W8T fashed YT St 31efoher b Q1 |

NOM, QRP, TUS, ?
Options:

1) WAX

2) HUT

3) WXV

4) HTU
Correct Answer: WXV
Candidate Answer: WXV

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
& 1 4Tl H e 37k FAIT RS ?

1,3,7,13,21,?
Options:

1) 27

2)29

3)31

4)33
Correct Answer: 31
Candidate Answer: 31

Question 10.If it is Saturday on 27th September, what day will it be on 27th October of the same year?

27 TadeR &t Afeiar §1 38 a¥ 27 st &1 wieT-ar fae glem ?
Options:

1) Thursday

geeafdar

2) Sunday

e

3) Friday

?W'IT

4) Monday

HHIR

Correct Answer: Monday

THaR

Candidate Answer: Friday
?_’I%_GHT

Question 11.The ratio of the ages of man and his wife is 4:3. After 4 years, the ration will be 9:7. If at the time of marriage, the ratio was 5:3, how many years ago
were they married?

Tk & 3T 3FhT Teatl T 317G T 30T 4:3 1 4 I 916 Tg 341 9:7 81 S9N | Al AMEY & T Ig 3T 5:3 m,eﬁﬁaﬁr?n'&rﬁmﬁaﬂ‘rqﬁﬁ?ﬁ?
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Options:
1) 12

2) 24
3)5

4)8
Correct Answer: 12
Candidate Answer: 24

Question 12.From the given words, select the word which cannot be formed using the letters of the given word.
frfald faeheat 7 & g 2ee iU St G 1T 2Uee & TR HT TIWT Fleh wET Sel1AT SIT HeheT|
ALTERNATIVES

Options:

1) ALTER

2) NATIVE

3) TEN

4) NATIONAL
Correct Answer: NATIONAL
Candidate Answer: NATIONAL

Question 13.If code P is denoted by 7, X by 9, M by 5, Zby 8, Lby 2, T by 1, then ZLTPXM will be

g P, 7 AT, X, 9 A eRfaT e, M, 5 A eRfiarT®, Z, 8 A =i ®, L, 2 A 3R T, 1 1, ar ZLTPXM 1 &1l ST g19T ?

Options:
1) 812851

2) 821591
3) 812715

4) 821795
Correct Answer: 821795
Candidate Answer: 821795

Question 14.If 24x2=84, and 32x3=69, then 13x3=?

7 24x2 = 84, 3R 323=69 &), AV 13x3 = ?

Options:
1) 38

2) 93
3) 16

4) 10
Correct Answer: 93
Candidate Answer: 93

Question 15.If + means division, - means multiplication, '+' means subtraction, x means addition, and < means less than, then which of the following is false?

T + T HAeTd HIT &, - ST Hold UM &, '+ T Hcl ol BT 81, X I HAclold I &1 3R < T AcTold A 81 ol [e=liclGel [dehot] & § HleT-AT ITeldl § ?

Options:
1) (10+2)+7 < (10+7)+2

2) (10-7)x2 < (10x2)-7
3) (10X7)-2 < (10-2)x7

4) (10+2)+7 < (10+7)x2
Correct Answer: (10X7)-2 < (10-2)x7
Candidate Answer: (10X7)-2 < (10-2)x7
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Question 16.Select the missing number from the given responses.

d\/91 & 7

T a1w faeredt 7 & oo wear A s ?
Options:

1)1

1

2) 4

4

3)9

9

4) 25

25

Correct Answer: 25
25

Candidate Answer: 25
25

Question 17.Ram went 20 meters to the north then turned towards east and walked another 5 meters, then he turned towards right and covered 20 meters. How far
is he from the starting point?

T JecX T X 20 Hex 1T, Y I 1 3R #7ge 5 Aex 7l 3R R arfeel Hge 20 #eY e a8 38 foig A fohdel g7 & STal & 38 Tefr e fohar o 2
Options:

1)3m

3 #ex

2) 4m

4 A

3)5m

5 #Hiex

4)6m

6 HleT

Correct Answer: 5 m

5 HreT

Candidate Answer: 5 m

5 #iex

Question 18.0ne or two statements are given followed by two or more conclusions/assumptions, I, II, III, IV. You have to consider the statement to be true, even if it
seems to be at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:

1. All goats are tigers.

2. All tigers are lions.

Conclusion:

I. All tigers are goats.

II. All lions are tigers.

III. No goat is a lion.

IV. No lion is a goat.

AT U 7 U I1 Y ey & I &, [T 39T 4 s /Aean, I, 11, 111 3R IV et 3 § 1379t faaR et § foF aarded O § O 98 9dedd: e
T2t & et gt T &)1 39 AT e § 76 T 10 aordey & @ Fia-ar AfRad &9 & et fAsewy/aeaar fasrer s aear 1

HYT :

1. Tef i ara €1

2. gt o R ¥

ey

1. e a1 IhRET E

2. gt g amer &

3. I g g 78T ¥

4. 15 g Tl 781 1
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Options:
1) Only Conclusion III & IV follow
ool TSRy 111 & IV TE 8|
2) Only Conclusion I & II follow
Fael fsHy [ & 11 T 8
3) None of the Conclusions follows
G T S o forsehy Wt 71T B
4) All Conclusions follow
e Asny T €1
Correct Answer: None of the Conclusions follows
ST T P 9N FAveny Ty A8 &
Candidate Answer: Only Conclusion I & II follow
ool fAsHy [ & I TE 8|

Question 19.In the question figure how many squares are there in all? Select from the given alternatives.

& 778 9T T H et et @9t § ? @ a7 Freheddt # & HEY 3 g

Options:
1) 12

2) 14
3) 10

4) 11
Correct Answer: 14
Candidate Answer: 10

Question 20.In the following figure, triangle represents teachers, square represents merchants and circle represnts social workers. Which number space represents
Teachers who are social workers?

frafafEd smefa & Pegst sreamdent o cffar s, a9t st s ffar & 3 goo Tarsr At i a2fiar §1 -8 dear 34 srearent # giich §, S @a s a4 § 2

Options:
1)3

2)2
3)4

4)5
Correct Answer: 2
Candidate Answer: 5
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Question 21.Which answer figure will complete the pattern in the question figure?

T Soa¥ el TeeT 3Tehfa T g el ?

Options:

Correct Answer:
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Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

U 91T Taehol 7 & 38 e} 3THid & YiAT fowa weaT 3mepfar fHfed &

Options:
1)

2)

3)

4)

= A B K
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Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I
4

P

t

5
__:a___

L= — =

I
1

I el hrerat Al el ford et 3Mepforat & 3THR Hiso H1er ST a Wielet & &1 a8 b 3 Siar @S dam ?
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Options:
1)

2)

S

R
5

3)

4)

Correct Answer:

=

Candidate Answer: [ NOT ANSWERED ]

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T 0T & MN Y@T 9X T@T ST At & 318 3cad 3Hfadt & § la-8 3mpfar gea i 1w wfafae g 2

M‘y &H
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Options:

1)
NeYadzz

2)
A

3)
NN

4)

8%
i

Correct Answer:

N A

Candidate Answer:

sZpatmce
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Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., D can be represented by 02, 10,
etc., and 'R' can be represented by 55, 67, etc. Similarly you have to identify the set for the word 'BEAR’

T 216G Shaol Uah HEAT-AHg SaNT GiiT a1 &, S o fasmedt 31 & fonely w31 o v § | Ryt # W aT0 e Wogg 318 & & a9if gamr arife arw &, oi far iy fow
31T &Y 3Tl A §1 3MegE 1 F FA9 3N dfehar 1 6T 0 @ 4 3R 3megg 11 R 5 7 9 & 978 §1 57 HTeggl & Ueh 38R I Ygel 38! Gfard 3R a1e 7 w37 HE&AT g@r gefrar
ST HhT &1 3ETeX0T & foIT 'D' &1 02, 10 T GaRT &R ST &hell & 2T 'R ' &1 55, 67 3HTe; G@RT &= ST Hehell &1 S 7¥E A 319! faw gU 2fea 'BEAR' & foIw @wog 1

g 1

MATRIX - MATRIX - IL

1 B  C DN E A 5 R o N T u

2 D E A B C 6 il u R o} M
z C D E A B 7/ (8] N T u R
4 A B C D E 8 u R 8] N T
5 E A B C D 9 N i1} R (8]

Options:
1) 13,11,12,78

2) 31,22,23,97
3) 42,34,42,79

4) 24,40,23,67
Correct Answer: 24,40,23,67
Candidate Answer: 42,34,42,79

Question 26.Money market is a market for

ST IR forees forw gl § 2
Options:

1) Short term fund
3feehiToldh Iy

2) Long term fund

& iferh Iy

3) Negotiable instruments
TR foad

4) Sale of shares

AT Fr fyhr

Correct Answer: Short term fund

3ol I

Candidate Answer: Sale of shares

R Y e

Question 27.India shares longest international boundary with which country?

R Ffaf@d 7 & fore &r1 & A1 Fo8 il HAXTSerT AT &1 TS T ¢ ?
Options:

1) Bangladesh

ST

2) China

AT

3) Nepal

qTel

4) Bhutan

qcleT

Correct Answer: Bangladesh
SaTEERT

Candidate Answer: China
AT
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Question 28.The Residuary powers of legislation under Indian Constitution rests with

AR Tfgena & 3mefieT faen=r v 3afise aferaar e Afea e g 2
Options:

1) President

Tsgafar

2) Prime Minister

eI FHAT

3) Parliament

q9G

4) States

I

Correct Answer: Parliament
panarcy

Candidate Answer: Parliament
EoRiry

Question 29.Appointments for all India Services are made by

& SRl B3t & v fAgfeear e e & ?
Options:

1) UPSC

e ot {aT 3T

2) President

egafar

3) Prime Minister

e FAT

4) Parliament

e

Correct Answer: President

aegafa
Candidate Answer: UPSC
e ek TaT 3TIeT

Question 30.The people of the Indus valley civilisation worshipped

Ty ey T e cT & T feherehT i et & 2
Options:

1) Vishnu

farsop

2) Pashupati

geEfd

3) Indra

=

4) Brahma

sEAr

Correct Answer: Pashupati
RNEIC]

Candidate Answer: Pashupati
geEfd

Question 31.The Upanishads are the

3uTAvE FAT§ ?

Options:

1) Great Epics

HETRIT

2) Story Books

FUT-HITE

3) Source of Hindu Philosophy
g a2t & 9T

4) Law Books

el Y TEIH

Correct Answer: Source of Hindu Philosophy

fig &2t @ 9t
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Candidate Answer: [ NOT ANSWERED ]

Question 32.Tsangpo is the other name in Tibet for

fsaa # foreeT qERT AT Tt § ?
Options:

1) Kosi

Hr

2) Gandak

CEC

3) Brahmaputra

SEATT

4) Ganga

I

Correct Answer: Brahmaputra
EREEE

Candidate Answer: Brahmaputra
SEATT

)

Question 33.The largest herbarium of India is located at

R T TG T3T AT FIGTeIT gl e & ?
Options:

1) Kolkata

PleTHIAT

2) Lucknow

SreoE)

3) Mumbai

Bt

4) Coimbatore

FIIFIT

N
Correct Answer: Kolkata

FITRIT

Candidate Answer: Coimbatore

FIgFII

]

Question 34.Temperature of distant luminous bodies can be determined by

R & TR 3 & A &t fhe 37 @ iR e ¥ 2
Options:

1) Mercury thermometers
IRE THHET

2) Gas thermometers

A g

3) Pyrometers

IRRIFARY

4) Colour thermometers

Tt e

Correct Answer: Pyrometers

IRRHRE

Candidate Answer: Pyrometers

IRRIARI

Question 35.In IT terminology failure in the kernel is called as

T HICGNRIERT &I AeqTael 7 Felel HIT T T Fgcd & ?
Options:

1) crash

o

2) crash dump

it

3) dump

e

4) Kernel error

Folol TR
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Correct Answer: crash
T
Candidate Answer: crash dump
Sher sFq

Question 36.Which of the following institutions was not founded by Mahatama Gandhi?

AFATAEd 7 & fohe T T AT FAGTCHT e o 18T o 27 ?
Options:

1) Sabarmati Ashram

HISHIT 3THH

2) Sevagram Ashram

HATITH 3T

3) Vishwa Bharti

9T R

4) Phoenix Ashram

BT 3T

Correct Answer: Vishwa Bharti

e sl

Candidate Answer: Phoenix Ashram

Rrfererd 3T

Question 37.Which of the following State has become India's first carbon free State?

rffld & & Hle7-a1 U AR &1 JUH Fa Horcd T ot 17 2
Options:

1) Himachal Pradesh

GECR G

2) Madhya Pradesh

ALY =T

3) Uttar Pradesh

3cd¥ geRr

4) Maharashtra

HERTSE

Correct Answer: Himachal Pradesh
AT T&Rr

Candidate Answer: Himachal Pradesh

TRl T

Question 38.Energy travels from Sun to Earth through

Foll T @ g Y AR TH G AT FA § ?
Options:

1) conduction

TeleT

2) convection

Hagel

3) radiation

fafeor

4) modulation

IGRLCH

Correct Answer: radiation

afeor

Candidate Answer: radiation

fafeRzor

Question 39.C.K. Naidu Cup is associated with which of the following sporting events?

. &, Ag F FTEd 7 ¥ e go 9 veafdd § ?
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Options:

1) Tennis

o

2) Cricket

B

3) Hockey

gl

4) Golf

Qi

Correct Answer: Cricket

ke

Candidate Answer: Tennis

e

Question 40.Pump priming should be resorted to at a time of?

TSI e (99T wisfHeT) fFe T R ST @R e ?
Options:

1) Inflation

Herehifer

2) Deflation

JgEhfa

3) Stagflation

wRfa g arfae

4) Reflation

gegaehfa

Correct Answer: Deflation

aEhifa

Candidate Answer: Reflation

Teaaehifar

Question 41.Which is the highest award for gallantry during peacetime?

QMifcTehTer # Halfee ST TR hleT-AT E ?
Options:

1) Vir Chakra

4R T

2) Param Vir Chakra

IH dR Th

3) Ashok Chakra

37l TH

4) Mahavir Chakra

HEER Teh

Correct Answer: Ashok Chakra
37l T

Candidate Answer: Mahavir Chakra
HETAR Th

Question 42.At Barren Island, the only active volcano in India is situated in

AR H Toh A Fihd SaTelH! Rl 3HTgels Fel feud § ?
Options:

1) Andaman Islands

3SHE AR

2) Nicobar Islands
[GEAEICCIRE:E

3) Lakshadweep

ELECIE)

4) Minicoy

AP

Correct Answer: Nicobar Islands

[GEAEIECCIRE:E
Candidate Answer: [ NOT ANSWERED ]
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Question 43.The transfer of minerals from top soil to subsoil through soil-water is called?

HeT Sl & HIETH MY FjeT & e H Giasll & AT T fohar 1 4 Hgd § ?
Options:

1) Percolation

gRager

2) Conduction

TeleT

3) Leaching

J&TTelsl

4) Transpiration

YRRI AT

Correct Answer: Leaching
J&TTeleT

Candidate Answer: Percolation

gf@aor

Question 44.Heat is transmitted from higher temperature to lower temperature through the actual motion of the molecules in

TrAToTe & & oy fsha & 370R3HT T arecfaeh Tl & AETH & Iod AHRE A FAFTaX ATTHIT hi AT S FEROT el @ ?
Options:

1) Conduction

leleT

2) Convection

Hagat

3) Radiation

fafeRsor

4) Both conduction and convection
Il 3R Hage gt

Correct Answer: Convection
Tage

Candidate Answer: Convection
HagsT

Question 45.Polio is caused by

qiferaT fhg SROTRIAT & ?
Options:

1) Bacteria

iy

2) Virus

fersmoy

3) Fungus

hdsh

4) Protozoa

Bricly

Correct Answer: Virus

fasTor

S
Candidate Answer: Virus

fsTor

9
Question 46.Which country is in the process of building the largest single Aperture Radio Telescope - FAST

PIAT 22T T T3T Tehol D, ATell (TIRTR) AT FORIT - FAST Sty hr ufghar F oem g ?
Options:

1) Japan

STl

2) China

Eic

3) USA

3R

4) Russia

*q

Correct Answer: China

Eic
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Candidate Answer: China
Eic

Question 47.The Kovvada Nuclear Park project is proposed to be setup in which State?

FledrsT wgfFer UTdh GRS F e T 7 wfid #et o7 9&m@ § ?
Options:

1) Rajasthan

Qe rlic

2) Uttar Pradesh

Eagell

3) Andhra Pradesh

3T TeRT

4) Karnataka

Felleh

Correct Answer: Andhra Pradesh
3T TeRT

Candidate Answer: Uttar Pradesh
3eal SR

Question 48.Fixed Foreign Exchange Rate can be changed by

Toraret el #7ar & & 1 et deel Fehall § ?
Options:

1) RBI

R Rard §F

2) SEBI

et

3) Ministry of Finance

ErGEGEIE

4) FIPB

T, 37S. 1. .

Correct Answer: RBI
HRAT Rera d%
Candidate Answer: RBI
IR Rerd d&

Question 49.In bio fortification technique plant breeders use breeding to overcome

S qEEIOT Teheiieh # UIEH FoTeidh fohd G el & folT Fotelel clehaiieh o T el © ?
Options:

1) Loss due to insect pests

HITHAIIRT F FHRUT &S gliaT

2) Decrease in food production

Gl 3cutest 7 FHar

3) Deficiencies of micronutrients and vitamins

T T I Bt 1

4) Loss due to plant diseases

qTeq AT & FROT §S Ffet

Correct Answer: Deficiencies of micronutrients and vitamins
& aent 3R i@t i aalr
Candidate Answer: [ NOT ANSWERED ]

Question 50.Which Institution has the final authority to interpret the Constitution of India?

AR & TITUT T ITEAT = T 3ifae TSR fore T &l & ?
Options:

1) Parliament

HHG

2) Supreme Court of India

AR &I ITIdH I ATl T

3) President

egafar

4) Attorney General of India

AR & 3TeleA SFeliel
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Correct Answer: Supreme Court of India
AR ol 3TIdH «I-™ATl T

Candidate Answer: President

aegafa

Question 51.A and B together can do a piece of work in 9 days. If A does thrice the work of B in a given time, the time A alone will take to finish the work is

A 3R B e el et 1 9 Tt o wrehe €1 I A TRl Taifése ey # B & TAa[aT vt T 1T § Y A 31Fell &6 1 ool o & HTeeT et ?
Options:

1) 4 days

4 et

2) 6 days

6 feet

3) 8 days

8 feet

4) 12 days

12 et

Correct Answer: 12 days

12 f&T
Candidate Answer: [ NOT ANSWERED ]

Question 52.The diameters of two cylinders are in the ratio 3:2 and their volumes are equal. The ratio of their heights is

2 STl T SATH 3:2 % T H § 3N 37 AT R §| SeAehl SelTS T AT TABT ?

Options:
1) 2:3

2)3:2
3) 9:4

4) 4.9
Correct Answer: 4:9
Candidate Answer: [ NOT ANSWERED ]

Question 53.A trader sold a cycle at a loss of 10%. If the selling price had been increased by Rs. 200, there would have been a gain of 6%. The cost price of the
cycle is

Tah SR 1 Tah {18 el Al 10% &1fet I o | AT Foreht &7 /e Rs. 2009¢T AT ST AT 38 6% T o1 @I & | H1S el o1 7 H{ed TABT ?

Options:
1) Rs.1200

2) Rs.1205
3) Rs.1250

4) Rs.1275
Correct Answer: Rs.1250
Candidate Answer: Rs.1250

Question 54.1In a city, 40% of the people are illiterate and 60% are poor. Among the rich, 10% are illiterate. The percentage of the illiterate poor population is

TRl 2T F 40% oler e & 3R 60% et et § | wog ol 7 10% oo e § | foveR et oheit a1 gfcvere samsve ?

Options:
1) 36

2) 60
3) 40

4) 50
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

Question 55.In what time will a 100 metre long train running with a speed of 50 km/hr cross a pillar?

T 100 #Hex ol o7 St i 50 6.7, /eier i TraR & Tl WY €, TR T59T &l IR ket 3 et @y ol ?
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Options:

1) 7.0 sec

7.0 §HsH

2) 72 sec

72 sH

3) 7.2 sec

7.2 §&sq

4) 70 sec

70 s,

Correct Answer: 7.2 sec

7.2 9hsg

Candidate Answer: 7.2 sec

7.2 Ahsg

Question 56.

2p 1 1
— , then the value of p+.F_3' will be

f e =
pZ—2p+1 4

w2 -1

P —2p+1 4
Al p+ L SIAF AT ?
P

Options:
1)8

2) 10
3) 12

4) None of these
Correct Answer: 10
Candidate Answer: 8

Question 57.If | + m + n = 9 and 12 + m? + n? = 31, then the value of Im + mn + nl will be

IR+ m+n =932 +m? +n?=31 8, a Im + mn + nl & AT IqBT ?
Options:

1)22

2)50

3)25

4) -25
Correct Answer: 25
Candidate Answer: 25

Question 58.The centroid of a triangle is the point where

T3l BRIUT &1 e a8 e & 16T WX 2

Options:

1) the medians meet

e 1@ AT £l

2) the altitudes meet

MY o e &

3) the right bisectors of the sides of the triangle meet
FeRIoT 1 st & R afrsors e ¥

4) the bisectors of the angles of the triangle meet
RT3 0T 3 GRS e &

Correct Answer: the medians meet

ALY Y@ AT §1

Candidate Answer: the bisectors of the angles of the triangle meet

FyIoT & it & afreers e &
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Question 59.In a triangle PQR, the side QR is extended to S. £QPR = 72° and «PRS = 110°, then the value of 2PQR is:

PQR f¥eRI0T 7§15 QR T S oeh T a1 &1 I 2QPR = 72° 31X £PRS = 110° &, AT PQR T AT T gl ?
Options:

1) 38°

2) 32°

3) 25°

4) 29°
Correct Answer: 38°
Candidate Answer: 38°

Question 60.In a trapezium ABCD, AB || CD, AB < CD, CD = 6 cm and distance between the parallel sides is 4 cm. If the area of ABCD is 16 cm?, then AB is

T3l F#ciar ABCD # AB || CD, AB < CD, CD = 6 @3, 31 FAl=cT S[sMait o sirer gdr 4 @30, &1 7 ABCD T & TeT 16 T2 &Y, T AB o1 A1 T glaT ?

Options:
1)1cm
13
2)2cm
234
3)3cm
3.
4) 8 cm
8 7.4

Correct Answer: 2 cm

237
Candidate Answer: [ NOT ANSWERED ]

Question 61.If tand + cot = 5, then the value of tan? 8+ cot? 8 is

T tand + cot® = 5 &, dT tan? B+ cot? B & AT TAST ?

Options:
1) 22

2) 25
3)23

4) 27
Correct Answer: 23
Candidate Answer: 25

Question 62.When a number is divided by 56, the remainder will be 29. If the same number is divided by 8, then the remainder will be

ToRdll TEAT T 56 I AT ol TR AW 29 HTAT & | TS 34T TEAT Y 8 I AT foham ST, AT AW AT 19w ?

Options:
1)6

2)7
3)5

4)3
Correct Answer: 5
Candidate Answer: 7

Question 63.If a shop keeper marks his goods for a certain amount so as to get 25% gain after allowing a discount of 20%, then his marked price is

e IS GRER T TEIIHT O T et 3ifehcd AT & o T 20% T &1 & 1 38 25% a1 of1e &1 il 3ifehel oo I ?

Options:
1) Rs.156.25

2) Rs.146.25
3) Rs.166.25

4) Rs.150.25
Correct Answer: Rs.156.25
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Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of marks of 17 students in an examination was calculated as 71. But it was later found that the mark of one student had been wrongly
entered as 65 instead of 56 and another as 24 instead of 50. The correct average is

Tl ot # 17 faeanfRiat & sthad 3t 71 &1 e a1g 2 war =rerr o ven fag@mit & 31k aTefclt & 56 & ST 65 ford 1w 3R weh g Freamedf o 50 & i 24 fowr
| FEY AT A P

Options:
1) 70

2)71
3) 72

4)73
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]

Question 65.The simple interest on a sum for 5 years is two-fifth of the sum. The rate of interest per annum is

TR STARITRY T 5 Y ol TTLROT AT 37 TR T 2/5 AT | STTT T aTi¥eh & AT hifaiw ?

Options:
1)0.1

2)0.08
3) 0.06

4) 0.04
Correct Answer: 0.08
Candidate Answer: [ NOT ANSWERED ]

Question 66.

1 1
— 2= 3 5
If{x+x]| =3, then the value of x* + o is

1
g (x +E}Z=3B-'\f,&_‘h x +Ea’7l
* A Ean ¢
Options:
1)0
2)1
3)2

4)-1
Correct Answer: 0
Candidate Answer: 1

Question 67.If a - b = 3 and a2 + b% = 25, then the value of ab is

Ifda-b=33NTa+b? =25, drab & A FaTC |

Options:
1) 16

2)8
3) 10

4) 15
Correct Answer: 8
Candidate Answer: 16

Question 68.In AABC, «B = 70° and «C = 60°. The internal bisectors of the two smallest angles of AABC meet at O. The angle so formed at O is

AABC 3 £B = 70° 3X C = 60°, AABC & FaH BIC 10T & e RNeh Gidefeteh O TN AT §1 38 Y O W a1 10T fohctat f33T o7 g1om 2
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Options:
1) 125°

2) 120°
3) 115°

4) 110°
Correct Answer: 125°
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 6 be positive acute angle and 5cos6 + 12sinf = 13, then the value of cos6 is

IfE O eticahet =g=TehoT 3R 5cos B + 12sin © = 13 &Y, AT cos O & AT AT HifTT ?
Options:

1)

12/13

2)
5/13

3)
5/12

4)
1/s

Correct Answer:
5f13

Candidate Answer:
5f13

Question 70.A cylinderical container of 32 cm height and 18 cm radius is filled with sand. Now all this sand is used to form a conical heap of sand. If the height of the
conical heap is 24 cm, what is the radius of its base?

32 .9, g 31X 18 A &Y TS aTel U SefAThR T X @ T ¥ g AR YT Ueh 2 TR &7 ¢ Fafled o foIT Gler 1 SiIelt §1 IS 53 2 3R & X Y 571 24
T3, g1, dr 35 ool AT T gelr ?
Options:

1) 12 cm

12 a3

2) 24 cm

24 T

3) 36 cm

36 .7

4) 48 cm

48 {9,

Correct Answer: 36 cm
36 .4

Candidate Answer: [ NOT ANSWERED ]

Question 71.The angle of elevation of the top of a pillar from the foot and the top of a building 20 m high, are 60° and 30° respectively. The height of the pillar is

20 #Hrex 30 3ART & 3MUR 3R MY T T @o & MY $9T T 3eTTT HIT HARM: 60° 3R 3008 | WeY Fr 21 a7 |
Options:

1)10m

10 7.

2) 10vV3m

10v3 7.

3)60 m

60 7.

4)30m

30 #.

Correct Answer: 30 m
30 &

Candidate Answer: 10v3m
103 &
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Question 72.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

i = H forel T A AR 3R FReR gt 3R et gfrerd gRitam o §1 3@ o sregae s 3R Aefaf@d gedt & seax Afsw

Literate Male

; (45%)
llliterate Female

(12%)

Literate Female Illiterate male
(35%) (8%)

If the total number is 35000, then the difference between the numbers of literate male and literate female is

I Pt TEAT 35000 & AF TR I3 3R AeR &l S Geam & e IeBv ?

Options:
1) 3500

2) 3700
3) 400

4) 4500
Correct Answer: 3500
Candidate Answer: [ NOT ANSWERED ]

Question 73.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

1§ =1E F Rl Tor 7 i 3R ARar et 3R et wr wfderd axifar aran 81 3@ @ sreage Y 3R efaf@a gt & 3ear

Literate Male

. [(4596)
llliterate Female

(12%)

Literate Female Illiterate male
(35%) (8%)

The difference of central angles corresponding to illiterate male and illiterate female is

fAeeR g9 3R e FEat o el e Shedld FHIvl H1 e T30 ?

Options:
1) 12.2°

2) 13.4°
3) 11.2°

4) 14.4°
Correct Answer: 14.4°
Candidate Answer: 11.2°
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Question 74.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

i =i A forelt T A AR 3R FReR gt 3R et gfrerd gRitam o §1 3@ i sreaae s 3R Aefaf@d gedt & seav afsw

Literate Male

; (45%)
llliterate Female

(12%)

Literate Female Illiterate male
(35%) (8%)

If the difference between the two categories of people are represented by 36° in the diagram then these categories are

Tfe & AT & el & AT IeaR I 7 36° AT T, A IART I AT FiA-Ar g ?
Options:

1) literate male and literate female

TR 9o 3 R et

2) literate male and illiterate male

TR 989 3R AR 7oy

3) illiterate male and literate female

fAReR qew 3R arr e

4) illiterate male and illiterate female

e qey AR fawer ot

Correct Answer: literate male and literate female
R 9o 3R arr et

Candidate Answer: [ NOT ANSWERED ]
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Question 75.The pie-chart shows the percentage of literate and illiterate male and female in a state. Study the diagram and answer the following questions.

1S e A Rl To A el 3R fARer qot 3R et @1 wfrerd geifar aram §1 3@ &1 3reags Y 3R Aefaf@a geat & 3eoar i)

Literate Male

. (45%)
llliterate Female

(12%)

Literate Female Illiterate male
(35%) (&%)

If two categories together have a central angle of 169.2° , then these categories are

T 2 ATOT 1 v Ty AR Frla FHI0T 169.2° 8, Y IA1ST 3 Ao Sia-ar § ?
Options:

1) literate female and illiterate female

R fErar 3R faveR fexat

2) literate male and illiterate female

TR oY 3N fover /e

3) illiterate male and illiterate female

fARer qev 3R fawer et

4) illiterate male and literate female

fAReR qew 3R aer e

Correct Answer: literate female and illiterate female
R fE3am 3R fAReR et

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CONSTRAIN
Options:

1) STRESS

2) CONTRADICT
3) RESTRICT

4) OBSTRUCT

Correct Answer: RESTRICT
Candidate Answer: STRESS

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

NONCONFORMIST

Options:

1) CONVENTIONAL

2) PRACTICAL

3) FASHIONABLE

4) NOMAD

Correct Answer: CONVENTIONAL

Candidate Answer: CONVENTIONAL

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Erroneous

2) Eronneous

3) Erronous

4) Eroneous

Correct Answer: Erroneous
Candidate Answer: Eronneous
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Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Although I have never seen the girl before, (A)/ I recognized her at once (B)/ from her photograph (C)/ no error (D)

Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

There was a (A)/ comparison between (B)/ you and he (C)/ no error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He flowed into a rage (A)/ at the very (B)/ sight of that man (C)/ No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He is connected.
Options:

1) respectively

2) respective

3) respectably

4) respectable

Correct Answer: respectably
Candidate Answer: respective

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

After retirement Surti lived Australia.
Options:

1)in

2) at

3) over in

4) over at

Correct Answer: in

Candidate Answer: in

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He the low pay.
Options:

1) moan at

2) complain about

3) grumbled at

4) ran after

Correct Answer: grumbled at
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Candidate Answer: moan at

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pros and Cons

Options:

1) Professionals

2) Con artists

3) Professionals and con artists
4) Advantages and disadvantages

Correct Answer: Advantages and disadvantages
Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Once in a blue moon

Options:

1) Very rarely
2) Common
3) Predictable
4) Ordinary

Correct Answer: Very rarely
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fish out of water

Options:

1) Dehydrated

2) Comfortable position

3) An uncomfortable position
4) Fish in an aquarium

Correct Answer: An uncomfortable position
Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A remedy for all diseases
Options:

1) Antiseptic

2) Antibiotic

3) Narcotics

4) Panacea

Correct Answer: Panacea
Candidate Answer: Panacea

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Of the highest quality
Options:

1) Productive

2) Reactive

3) Superlative

4) Relative

Correct Answer: Superlative
Candidate Answer: Superlative

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place of shelter for ships
Options:

1) Harbour

2) Helipad

3) Port

4) Barrack

Correct Answer: Harbour
Candidate Answer: Port

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

His wife is as tall if not, taller than him.
Options:

1) as tall as, if not

2) as taller if not

3) not as tall but as

4) No improvement

Correct Answer: as tall as, if not

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is a fast bowler of repute, but his yesterday's performance was not up to the mark.
Options:

1) performance for yesterday

2) yesterday performance

3) performances for yesterday

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Owing to his respiratory problems the doctor has told him to refrain from smoking.
Options:

1) to not refrain from

2) to refrain to

3) to refrain not from

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He is suffering from fever for a week.
Options:

1) was suffering

2) had suffering

3) has been suffering

4) No improvement

Correct Answer: has been suffering
Candidate Answer: was suffering

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

None knows how it was happened
Options:

1) was happen

2) has happened

3) happened

4) No improvement

Correct Answer: happened
Candidate Answer: No improvement
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What had the writer given up hope?

Options:

1) To be able to withstand this snowstorm

2) To be able to fight her way against the wind
3) That the snowstorm would improve

4) To find shelter from the wind

Correct Answer: To find shelter from the wind

Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What did the two friends find while searching for shelter?
Options:

1) A haunted hut

2) A deserted hut

3) A very old hut

4) A very small hut

Correct Answer: A deserted hut
Candidate Answer: A very small hut

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

Why did the writer step cautiously inside the cabin?

Options:

1) Because she was feeling so cold that her legs had become numb
2) Because she could not see clearly in the dark

3) Because the wind made it difficult for her to enter quickly

4) Because the cabin was very dusty

Correct Answer: Because she could not see clearly in the dark
Candidate Answer: Because the cabin was very dusty
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What did Jane find?

Options:

1) A necklace made of gold

2) A necklace made of red ruby

3) A red-coloured necklace

4) A golden necklace with a pendant on it

Correct Answer: A golden necklace with a pendant on it
Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

The snowstorm was getting worse. White flakes whirled around us as we fought our way against the wind. I had almost given up hope of sheltering, when we found
an abandoned log cabin in front of us.

I squeezed through the door of the cabin and stepped cautiously inside with Jane close behind me. It was dark and musty-smelling, but at least it was sheltered and
dry.

Glad to be out of the storm, we settled down on the dusty floor to wait for a break in the weather."What's this?" asked Jane curiously. Her hand closing over
something shiny. She held it up to the weak ray of light that pierced the gloom. A gold necklace glittered and shone. Its ruby pendant was a lustrous wine-red in the
faint beam. Strangely, there was no dust on the necklace. It was almost as though it had dropped from the throat of its owner moments ago.

We gazed at each other speechlessly. What strange mystery had we accidently stumbled upon?

What was the strange thing about the necklace?
Options:

1) It was made of marble

2) It was pink in colour

3) There was no dust in it

4) There was a picture on the pendant
Correct Answer: There was no dust in it

Candidate Answer: [ NOT ANSWERED ]
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